INSTRUCTION MANUAL

3
N







Ref |Dimensions(mm) Visual Qty
1 | 1526x396x16 1
2 | 1526x396x16 1
3 1 590x395x16 2
4 | 590x352x16 2
5 | 398x350x16 2
6 | 1490x104x16 2
7 | 1500x392x5 1
8 | 590x60x16 2
9 | 382x60x16 4
10 | 662x60x16 2

Ref |Dimensions(mm) Visual Qty
11| 566x390x16 <;;;;;g;;;;;;;;;> 2
12 670x187x16 <;;;;;;;;;;;;;> 3
13 | 350x150x12 6
N
14| 613x150x12 % 3
15| 334x60x12 % 3
16 | 623x344x5 <;;§g;;;;::::::> 3
(=
Z @20 | 28pcs




e

A | M6x40mm | 28pcs @15x11.5 | 28pcs 24pcs
= )
& -
v
D [@12x10mm 15set M4x14 | 36pcs 18pcs
~ 8 4
O A# Tpcs Méx16 | 6pcs Méx20mm | 18pcs
()
)
\ —
N | @8x20 | 16pcs Méx12mm | 8pcs 12" 3set
)
v
L=80 | Spcs / 8pcs
-
P / 2set M7x50 |4pcs / 4set




\\\\\\\\\\\\\

Step 1
|
Step 2




Step 3:

A [M6x40mm [24pcs

Step 4:

A [Méx40mm [4pcs




Step 5:

) (21D
MR

CORRECT WRONG

Please note that the
locking cam faces
outwards

\
\

C ‘ &8x30 ‘chs

%
&

B [@15x11.5] 2pcs

Step 6:

\

C ‘ @8x30 ‘chs 0

%
&

B [@15x11.5] 2pcs




Step 7:

==

C [ @8x30 |épcs

&
B [@15x11.5 [ 8pcs

/

"

Press lever to
unlock and

slide the
runners apart.

x6

‘3set

12"




Step 9:

>59)

192

e

=K

12“

33

E | M4x14 [18pcs

‘ 3set

12"

Step 10:

==

C| @8x30 |4pcs

Q)

B [@15x11.5] 4pcs

/




Step 11:

\
\ g

C ‘ @8x30 “IOpcs °

% P

B [@15x11.5 [12pcs

N

N| @8x20 [4pcs

H ‘ M6x20mm | 4pcs




Step 13:

05

N @8x20 [12pcs

M4pcs

H [Méx20mm

/

Step 14:

N

o

‘chs




Step 15:

Step 16:

[4set| | [ M4x14 [4pcs

/

<

80 ‘chs

S L




Vi XD

CORRECT WRONG

vl

18pcs

D [#12x10mm[15set| E [ M4x14

M4x14

6pcs




Step 18:




N

@)

P2 x1 P3 x2 P4 x2

P5 x2

7




Add the screw covers
for those visible cams




	图纸和视图
	布局1

	图纸和视图
	布局1

	图纸和视图
	布局1

	图纸和视图
	布局1

	图纸和视图
	布局2

	图纸和视图
	布局2

	图纸和视图
	布局2

	图纸和视图
	布局2

	图纸和视图
	布局2

	图纸和视图
	布局3

	图纸和视图
	布局3

	图纸和视图
	布局3

	图纸和视图
	布局3

	图纸和视图
	布局3

	图纸和视图
	布局3

	图纸和视图
	布局3


